BASE BID					
ITEM	EST	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN	EXTENDED
1	QNTY 1	LS	Mobilization, Bonds, Insurance and all Permitting (entire project), complete, for the Lump Sum of Ten Thousand Dollars Zero Cents Lump Sum	\$10,000.00	\$10,000.00
2	1	LS	Provide Construction Material Testing of subgrade and concrete as specified in the plans including all incidentials utilizing City approved firm for the Lump Sum of Five Thousand Dollars Zero Cents Lump Sum	\$7,000.00	\$7,000.00
3	5	МО	For temporary portable arrow boards (2) and all incidentals for the sum of One Thousand and Five Hundred Zero Dollars Per Month	\$1,500.00	\$7,500.00
4	5	МО	For temporary portable message boards (2) and all incidentals for the sum of Three Thousand Dollars & Zero Cents Per Month	\$3,000.00	\$15,000.00
5	1	LS	Traffic Control for single lane closure of arterial or collector roadways, including all incidentals for the sum of <u>Four Thousand</u> Dollars Zero Cents Lump Sum	\$4,000.00	\$4,000.00
6	1	LS	Erosion Control for all disturbed areas, including inlet sediment barriers and all incidentals for the Lump Sum of Two Dollars & Zero Cents Lump Sum	\$2,000.00	\$2,000.00
7	5,911	SY	Saw, remove and dispose of existing reinforced or non-reinforced concrete street, alley, sidewalk, curb ramp, pavers, median pavers, Eleven Dollars & Zero Cents Per Square Yard	\$11.00	\$65,021.00
8	450	CY	Unclassified roadway or alley excavation including all clearing, hauling and disposal of surplus for the sum of Thirty Dollars Zero Cents Per Cubic Yard	\$30.00	\$13,500.00
9	2,920	SY	Construct 8 inch Class C, 3600 psi, reinforced concrete street paving, to include but not limited to integral curb, striping, and manhole /valve adjust including all incidentals for the sum of Eighty Five Dollars & Zero Cents Per Square Yard	\$85.00	\$248,200.00
10	2,382	SY	Construct 10 inch Class C, 3600 psi, reinforced concrete street paving, to include but not limited to integral curb, striping, and manhole /valve adjust including all incidentals for the sum of Eighty Six Dollars & Zero Cents Per Square Yard	\$86.00	\$204,852.00

515H 2021 3 03 CH # 312100					
11	100	CY	Furnish and install flexible base, including all incidentals for the sum of Dollars Cents Per Square Yard	\$30.00	\$3,000.00
12	960	SY	Construct 8-4-8 inch Class C, 3600 psi, strength reinforced concrete Dollars Cents Per Square Yard	\$79.00	\$75,840.00
13	500	SY	Construct 4 inch Class C, 3600 psi, reinforced concrete sidewalk paving, including all incidentals for the sum of Dollars Cents Per Square Yard	\$73.00	\$36,500.00
14	6	EA	Construct 4 inch Class C, 3600 psi, reinforced concrete barrier free ramp, including truncated domed pavers and all incidentals for the sum One Thousand and Five Hundred Dollars Zero Cents Per Each	\$1,500.00	\$9,000.00
15	1	EA	Construct 4 inch Class C, 3600 psi, reinforced concrete barrier free ramp for 10' wide trail, including truncated domed pavers and all incidentals for the sum of one Thousand and Four Hundred Cents Per Each	\$1,400.00	\$1,400.00
16	1,127	SY	Furnish and install block sodding (match existing type), including 4 inches of top soil and watering until established, including all incidentals for the sum of Eleven Dollars Zero Cents Per Square Yard	\$11.00	\$12,397.00

TOTAL - STREET AND ALLEY REHABILITATION BASE BID:	<u>\$715,210.00</u>
CALENDAR DAVS	

ALTERNATE 1					
ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
1	1	LS	Provide Construction Material Testing of subgrade and concrete as specified in the plans including all incidentials utilizing City approved firm for the Lump Sum of Dollars & Cents Lump Sum	\$2,000.00	\$2,000.00
2	0.5	МО	For temporary portable arrow boards (2) and all incidentals for the sum of Dollars & Cents Per Month	\$1,500.00	\$750.00
3	0.5	МО	For temporary portable message boards (2) and all incidentals for the sum of Dollars Cents Per Month	\$3,000.00	\$1,500.00
4	1	LS	Traffic Control for single lane closure of arterial or collector roadways, including all incidentals for the sum of Dollars Cents Lump Sum	\$1,500.00	\$1,500.00
5	1	LS	Erosion Control for all disturbed areas, including inlet sediment barriers and all incidentals for the Lump Sum of Dollars Cents Lump Sum	\$1,200.00	\$1,200.00
6	204	SY	Saw, remove and dispose of existing reinforced or non-reinforced concrete street, alley, sidewalk, curb ramp, pavers, median pavers, Dollars Cents Per Square Yard	\$11.00	\$2,244.00
7	49	CY	Unclassified roadway or alley excavation including all clearing, hauling and disposal of surplus for the sum of Dollars Cents Per Cubic Yard	\$30.00	\$1,470.00
8	44	SY	Construct 8 inch Class C, 3600 psi, reinforced concrete street paving, to include but not limited to integral curb, striping, and manhole /valve adjust including all incidentals for the sum of Dollars Cents Per Square Yard	\$85.00	\$3,740.00
9	160	SY	Construct 10 inch Class C, 3600 psi, reinforced concrete street paving, to include but not limited to integral curb, striping, and manhole /valve adjust including all incidentals for the sum of Dollars Cents Per Square Yard	\$86.00	\$13,760.00

10	280	SY	Construct 4 inch Class C, 3600 psi, reinforced concrete sidewalk paving, including all incidentals for the sum of Dollars Cents Per Square Yard	\$74.00	\$20,720.00
11	137	SY	Furnish and install block sodding (match existing type), including 4 inches of top soil and watering until established, including all incidentals for the sum of Dollars & Cents Per Square Yard	\$11.00	\$1,507.00

TOTAL - STREET AND ALLEY REHABILITATION BASE BID:	<u>\$50,391.00</u>
CALENDAR DAYS	

ALTEDNATE 2					
ITEM NO.	EST QNTY	UNIT	ALTERNATE 2 DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
1	1	LS	Provide Construction Material Testing of subgrade and concrete as specified in the plans including all incidentials utilizing City approved firm for the Lump Sum of Dollars Cents Lump Sum	\$2,000.00	\$2,000.00
2	0.5	МО	For temporary portable arrow boards (2) and all incidentals for the sum of Dollars & Cents Per Month	\$1,500.00	\$750.00
3	0.5	МО	For temporary portable message boards (2) and all incidentals for the sum of Dollars Cents Per Month	\$3,000.00	\$1,500.00
4	1	LS	Traffic Control for single lane closure of arterial or collector roadways, including all incidentals for the sum of Dollars & Cents Lump Sum	\$1,000.00	\$1,000.00
5	1	LS	Erosion Control for all disturbed areas, including inlet sediment barriers and all incidentals for the Lump Sum of Dollars Cents Lump Sum	\$1,200.00	\$1,200.00
6	30	SY	Saw, remove and dispose of existing reinforced or non-reinforced concrete street, alley, sidewalk, curb ramp, pavers, median pavers, Dollars Cents Per Square Yard	\$11.00	\$330.00
7	365	CY	Unclassified roadway or alley excavation including all clearing, hauling and disposal of surplus for the sum of Dollars Cents Per Cubic Yard	\$30.00	\$10,950.00
8	15	SY	Construct 10 inch Class C, 3600 psi, reinforced concrete street paving, to include but not limited to integral curb, striping, and manhole /valve adjust including all incidentals for the sum of Dollars Cents Per Square Yard	\$86.00	\$1,290.00
9	334	SY	Construct 9 inch Class C, 3600 psi, reinforced concrete street paving, to include but not limited to integral curb, striping, and manhole /valve adjust including all incidentals for the sum of Dollars Cents Per Square Yard	\$85.00	\$28,390.00
10	362	SY	Pulverizing, mixing and compacting 6 inch thick, 6% cement treated subgrade compacted to 95% proctor density 1 foot past curb for the sum Dollars & Cents Per Square Yard	\$25.00	\$9,050.00
11	100	LF	Furnish and install 8" white stripe including all incidentals for the sum Dollars Cents Per Linear Foot	\$12.00	\$1,200.00

12	1	EA	Furnish and install white left turn arrow including all incidentals for the Dollars Cents Per Each	\$2,500.00	\$2,500.00
13	56	SY	Furnish and install block sodding (match existing type), including 4	\$11.00	\$616.00

TOTAL - STREET AND ALLEY REHABILITATION BASE BID:	\$60,776.00
CALENDAR DAYS	

ALTERNATE 3					
ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
1	1	LS	Provide Construction Material Testing of subgrade and concrete as specified in the plans including all incidentials utilizing City approved firm for the Lump Sum of Dollars & Cents Lump Sum	\$1,500.00	\$1,500.00
2	0.2	МО	For temporary portable arrow boards (2) and all incidentals for the sum of Dollars & Cents Per Month	\$1,500.00	\$300.00
3	0.2	МО	For temporary portable message boards (2) and all incidentals for the sum of Dollars Cents Per Month	\$3,000.00	\$600.00
4	1	LS	Traffic Control for single lane closure of arterial or collector roadways, including all incidentals for the sum of Dollars Cents Lump Sum	\$1,000.00	\$1,000.00
5	1	LS	Erosion Control for all disturbed areas, including inlet sediment barriers and all incidentals for the Lump Sum of Dollars Cents Lump Sum	\$1,000.00	\$1,000.00
6	303	SY	Saw, remove and dispose of existing reinforced or non-reinforced concrete street, alley, sidewalk, curb ramp, pavers, median pavers, Dollars Cents Per Square Yard	\$11.00	\$3,333.00
7	26	CY	Unclassified roadway or alley excavation including all clearing, hauling and disposal of surplus for the sum of Dollars Cents Per Cubic Yard	\$30.00	\$780.00
8	303	SY	Construct 8 inch Class C, 3600 psi, reinforced concrete street paving, to include but not limited to integral curb, striping, and manhole /valve adjust including all incidentals for the sum of	\$85.00	\$25,755.00

9	200	SY	Construct 10 inch Class C, 3600 psi, high-early strength reinforced concrete street paving, to include but not limited to integral curb, striping, and manhole /valve adjust including all incidentals for the sum of Dollars & Cents Per Square Yard	\$95.00	\$19,000.00
10	42	SY	Furnish and install block sodding (match existing type), including 4 Dollars Cents Per Square Yard	\$11.00	\$462.00

TOTAL - STREET AND ALLEY REHABILIT	ATION BASE BID:	<u>\$53,730.00</u>
	CALENDAR DAYS	

PROPOSAL SUMMARY

TOTAL STREET	AND ALLEY REHABILITATION BASE BID		\$715,210.00	
TOTAL STREET AND ALLEY REHABILITATION ALTERNATE #1 TOTAL STREET AND ALLEY REHABILITATION ALTERNATE #2			\$50,391.00 \$60,776.00	
CALENDAR DAYS BASE BID:	70 Days	0	0	
CALENDAR DAYS ALTERNATE BID #1:	30 Days	0	0	
CALENDAR DAYS ALTERNATE BID #2:	20 Days	0	0	
CALENDAR DAYS ALTERNATE BID #3:	10 Days	0	0	
	TOTAL BID	#1 \$765,601.00 #2 \$775,986.00		
	TOTAL BID + ALTERNATE #1			
	TOTAL BID + ALTERNATE #2			
	TOTAL BID + ALTERNATE #3			
	TOTAL BID + ALTERNATE #1-3	\$880,3	107.00	

The City of Allen reserves the right to award the base bid and any combination of alternates by signing the Bid Endoresement and Standard Form of Agreement.